EJCERRR

F 26 7B

D26 7B

AN LA S o O 2 R S ik

T651-0024 {8 = T 2l X 5 R BT th 41508
TEL Q078 (967) 1481
FAX 078 (967) 30489

ABBRFTUBEERTEOMEBRERTT .
AEflE 2014 £ 4 A 18 JYBERAWVELEY, (ABRREAEFAFICHEOIMARERLLEY,)
BAIXIFRREEZSTH0, KMRARICEHIATVSIRBERVRAICTITEXTEL,

HMmRORET

— RBEERV. BEEORRIERTEIHBLLELA,

X BHifi cteLV=LEEA,

n BESICEATET. TOBIORDY [CHIRT LBEHHYET,

3 (KF)T7yvtrT U
Ty TytrITUE&R

Sw INREE

W TEER

AJ TIO¥YRAE

SP a4 J)L/NHR

PK NRYFURIEFHRY T Y b

ARILE  KRARILE

A OIBRKCOVTEHIEHBRERZSBELTT S, BLEKRICOVLTESHAVLEDE CFZEL,

AEZIFHRDI=OFELE L MBRMAEEAEDL D ENHYFET,




F267B

BARE(IERT)




TaEGEmT)  F267B

B mE e %) (@ R ERES EITE E%| @
1 |1224-83100 | |OP ¥'¥/—R7vY (3%{) 1 5-1 | 1127-82200 | |H&H< Uk 1
1-1 | 1224-83110 | % |OP ¥¥ 4 —X 1 5-2 | 0111-00612 | |M6X12R%1) 4
1-2 | 1127-83130 | % |95 v FRS L 1 5-3 | 0162-00660 | |M6 75 4tF vk 4
1-3 | 0212-02812 | % R-28 RFv S 4 1 5-4 | 1425-82310 | |J347vhk 1
1-4 | 0311-16001 | % |6001 NS X714’ 1 55 | 1425-82340 | | TS whTA 1
1-5 | 0311-06001 | % 6001 X714 1 5-6 | 1425-82350 | | TS5 YhTE 1
1-6 | 1124-83141 | % |E=A > ¥ 1 5-7 | 0114-00516 M5X16F7AR4Y)2 3
1-7 | 1224-83161 | % | XA L 1 5-8 | 0162-00555 | |M5 52 fFF vk 3
1-8 | 1124-83170 | 3% | AHS T4 1 5-9 | 1425-51161 TL—rGEER) 1
1-9 | 0212-03515 | % |R-35 X} )4 1
1-10| 0311-16202 | % (6202 NS A7 4 1
1-11| 3143-11180 | % |F'YRFS54 M-10 1
1-12| 1224-83150 | ¥ |7 fF v Tk 1
1-13| 0311-46003 | % |6003 ZZRF7 )24 1
1-14| 1124-83180 | % | v T MBZ SP (/M) 1 6 | 1448-82402 | |&ENYNASSY(OT AY) XA 1
1-15| 1131-81250 | % [#2twk/ 2 1 6-1 | 1445-82440 | x |fg/\> K (EHEYR) 1

1131-94110 | % |2y b AR BRESR)L 1
2-1 | 1425-83210 | |IL—L 1 1271-91240 | |KS4/8—(+) 1
2-2 | 1127-83190 | [\ UH RR—4 1 3347-91140 | |[WOX/F  8-10 1
2-3 | 0122-30625 | |M6 X 25+F At RAXNISWW | 4 1271-91140 |  [TEK 9IALYF (13X19X27MVIR) | 1
2-4 | 1271-81430 | |[E#R 1 ik AAE 1
2-5 | 0122-00520 | |M5 x 20+ 57N AH b 3
2-6 | 0162-00660 | |M6 IS5 AtF vk 3
2-71127-81510 | | LERSP (& 24) 1
2-8 | 1127-81520 | |SP 7RJLA 1
2-9 | 1145-81480 | | LERKILFASSY (3EM) 1
2-10| 0122-00840 | 3% |M8X40 +=F 7t 7N &k Ibb 1
2-11| 1226-81460 | % |8-28 W 1
2-12| 1224-81530 | % [8-10-30 HS5— 1
2-13| 1425-81471 | %|10-30 I Ly 1
2-14| 1127-81490 | | &SP (& 26) 1
2-15| 1131-81460 | [10-26 W 1
2-16| 1145-00406 | |M4x6 #yEL RS2 1
3 | 1425-82101 -t 1
4 | 1425-51002 | |#R#4U9TyY (KED) 1
4-1 | 1425-51011 | % #REHH 1
4-2 | 1226-51103 | % |%vy7' 7y (OfF) 1
4-3 | 1226-51200 | O |RILE T 1
4-4 | 1221-51140 | O | v TPK 1
4-5 | 1226-51170 | O | T4 JL A 1
4-6 | 1234-51170 | O | AN 1




D267B

HAE




=L D267B
B mE e %) (@ R ERES EITE E%| @
1| 1448-83101 | |979Fn\9Y U9 Tyy (KED) 1
1-1 | 1447-83110 | % |959Fn9 vy 1 6 | 1448-82402 | |& AN YMASSY(DT AY) XAt 1
1-2 | 1448-83131 | % | 759 FRS L 1 6-1 | 1445-82440 | x |fg/\> K (EHEYR) 1
1-3 | 0311-46001 | % |6001 ZZ RFYL 4 1
1-4 | 0212-02812 | % |R-28 RFv )4 1
1-5 | 0211-01210 | % |S-12 RFwTYo4' 1
1-6 | 1428-83250 | % | R w/i— 1
1448-83190 | |4 YRSRL 1 1271-91240 |  [RS5A/3—(+) 1
3347-91140 | |[@OXR/{F  8-10 1
1271-91140 | | TEIKWHALUF (13X19X27MVIR) | 1
2-1| 1425-83210 | |JL—L 1 HIKERBAE 1
2-2 | 1127-83190 | [\ UHT RR—4 1
2-3 | 0122-30625 | |M6 X 25+F 5t RAR LISWW | 4
24 | 1271-81430 | |E#R 1
2-5 | 012200520 | | M5 X 20+F gt A Fk bb 3
2-6 | 0162-00660 | |M6 IS5 A+ vk 3
2-7 1 1127-81510 | | LERSP (P 24) 1
2-8 | 1127-81520 | |SP 7RJLA 1
2-9 | 1145-81480 | | LERK ILFASSY (3KEM) 1
2-10| 0122-00840 | 3 |M8X40 +F 7t 7Nk Ibb 1
2-11| 1226-81460 | % |8-28 W 1
2-12| 1224-81530 | % [8-10-30 HS5— 1
2-13| 1425-81471 | %|10-30 I Ly a3y 1
2-14| 1127-81490 | | T&BSP (& 26) 1
2-15| 1131-81460 10-26 W 1
2-16| 1145-00406 | |M4x6 #yEL RS 1
3 | 1425-82101 -t 1
4 | 1425-51002 | |BRFL4VITvY (RED) 1
4-1 | 1425-51011 | % | BRI 4 1
4-2 | 1226-51103 | % |¥vy7 79y (OfF) 1
4-3 | 1226-51200 | O |FRILE T 1
4-4 | 1221-51140 | O | v TFPK 1
4-5 | 1226-51170 | O | T4 JLA 1
4-6 | 1234-51170 | O | AN 1
5-1 | 1127-82200 | |& L2k 1
52 | 0111-00612 | |M6X12&R%Y)a 4
5-3 | 0162-00660 | |M6 75>t vk 4
5-4 | 1425-82310 | |7S54whE 1
5-5 | 1425-82340 | |TS4vbTH 1
5-6 | 1425-82350 | | TS YNTE 1
5-7 | 0114-00516 | |M5X16+5AA%Ya 3
5-8 | 0162-00555 | |M5 IS5 4t vk 3
5-9 | 1425-51161 | |FL—FEEEIR) 1




F267B/D267B

BFAE




=] F267B/D267B
REF RS EiTTE E| (@ HE i iR B fEE
-1 1271-11110 | |5 — 1 5-11| 1271-43110 | | RA—HR—X 1
1-2 | 1271-11120 | |24 —PK 1 5-12| 1271-60416 | |M4 X 16 X41) 2 (MVYAT-27) 4
1-3 [ 1271-11160 | |BFEVA/N—2AJL 2 5-13| 1271-41190 | |AYEVRPY) 2 (FLYR) 3
1-4 | 1271-60520 | |M5 X 20R471) 2 (MLIAT-27) 2 5-14| 1271-94100 | |[)aM{ILFA" 1L (F267B) 1
1-5 | 1271-11130 | |42 al—4PK 2 5-14| 1272-94100 | |Y)a{I5A"),(D267B) 1
1-6 | 1271-11170 | |K9 279/ 1
1-7 | 1271-11140 AL —% 1
1-8 | 1271-60525 | |M5 x 25X 41) 2 (MLIAT-27) 2 6 | 1127-51300 | |[/S4F 7y (XEN) 1
1-9 [ 1271-11150 | |F+TL4PK 1 6-1 - X PR T 1
1-10] 1271-12130| |<¥75—PK 1 6-2 — | )B—2NAT 1
1-11] 1271-12110 | |RTS5— 1 6-3 | 1127-51350 | % |~ Oy 1
1-12| 1271-60565 | |M5 X 65X 4") 1 (MVYAT-27) 2 6-4 | 1124-51360 | |7Vv7 1
1-13] 1271-60512 |  |M5 X 1224") 2 (MVYRT-27) 1 6-5 | 1271-51400 | |BAHIAILA—T v 1
1-14| 1271-13110 | |22 HHN— 1 6-6 | 1162-51370 | |/SATSP({tAS) 1
1-15| 1271-14130 | |EXk@ 34 1 1127-51470 | |/I"A(FHS0T(HRAR) 1
1-16 | 1271-14110 | |EX+2) S (#) @ 34F 1
1-17| 1271-14140 | |ERb2E226ccH 1 1271-83230 | [T IL953—(9Uy7 2{@ ()
1-18| 1271-14150 | |ERFUEVRFV T 2 (BAxtsR )
1-19| 1271-14160 | |EXREURFTYLY 1
7 | 1271-53000 | |%v7'LAASSY WYJ-426 (3¢FI4) 1
7-1 | 1221-53120 | % | — T )L TSk 1
2-1|1271-21100 | |95 95—R 1 7-2 | 1224-53140 | % |AJ X5 1
2-2 | 1271-06001 | |R71)>4'6001-C3 2 7-3 | 1124-53130 | % |AJ F Uk 1
2-3 | 1271-22110 | |52 v TFASSY26¢cH 1 7-4 | 1221-00310 | % |M3 X 10R41) 1 1
2-4 | 1271-22140 | | A ¥— 1 7-5 | 1271-53210 | % | ROvkL/NLT 1
2-5 | 1271-02812 | |RFvFJo4 RTW-28 1 7-6 | 1128-53190 | % | T A V7R)LAS 1
2-6 | 1271-24170 | |A AL —)L (BRED) 1 7-7 | 1221-53430 | % | Ty 1
2-7|1271-24160 | |A AL —)L GEEED) 1 7-8 | 1124-53220 | % |[E Y24 1
2-8 | 1271-60525 | |M5 X 25X %4") 2 (MVIRT-27) 3 7-9 | 1271-53240 | % |04 1
2-9 | 1271-23120 T r—2R 1 7-10| 1271-53250 | % | A/ T vk 1
2-10| 1271-60520 | |M5 X 202%") 2 (MVYAT-27) 4 7-11| 1271-53260 | % | R TPK 1
2-11| 1451-36120 | |a—K95>7F 1 7-12| 1271-53270 | % | R TH (IS5, TGX23 1
7-13| 1271-53310 | % | R 1) —> 1
3-1|1271=31100 | |95vFaa>rF(HI79FSPIT) 1 7-14| 1271-53280 | % | RO TRTF1—7 v 1
3-2 | 1271-31150 | |9xz—JW 2 7-15| 1271-53330 | % | A—2 & (¥ 75 LPK 1
3-3 | 1271-31120 | |459FW 2 7-16 | 1271-53340 | % | A—2 A A TS5 L 1
3-4 | 1271-31130 | |95y FRILE 2 7-17| 1271-53350 | % | £ A ¥ IS LART1 1
7-18| 1271-53360 | % | FSAI TR T 1
4-1 ] 1271-32200 | |34 N7F4HRANT Y (SCEN) 1 7-19| 1271-53370 | % [/R> T H/\— 1
4-2 | 1271-32210 | % | 7S5 A=A —IL 1 7-20| 1128-00325 | % |[M3 X 25 X41) 4
4-3 | 1271-32140 | % |34 JLASSY (779 %+97°11) 1 7-21| 1271-53390 | % |91)—F—PK 1
4-4 1 1271-23140 | |Fvb 754 HRA—IL 1
4-5|1271-32320 | |)—K7J4¥ # X 1
4-6 | 1271-32330 | |)—FJA4¥ AR 1
47 | 1271-32340 | |a—K4 OAvk 1 8 | 1271-53300 | |7Y)—Fa> 7 (%AT) 1
4-8 | 1271-60420 | |M4 X 20R%5') 2 (MVYART-27) 2 8-1 | 1271-53320 | ¥ |91)—F—RKTF4 7 v (Fa—o 1) 1
4-9 | 1271-34110 | |R/8—%4T5% (BPMRTA) 1 8-2 | 1271-54130 | % |91 )—F—IL Ak 1
8-3 | 1271-54110 | % | T 7 )—F—H/\— 1
5 | 1271-41000 | |1)34JLASSY (3¢EN) 1 8-4 | 1271-60560 | |M5 X 60R 1)1 (MWYAT-27) 2
5-1 | 1271-41110 | % | RA—B —X T v 1
5-2 | 1271-41100 | % |[7HENATY09 Ty (OEN) 1
5-3 | 1271-41120 | O | R/ S JLSP 1
5-4 | 1271-41170 | O | Y— LT v 1
5-5 | 1271-41180 | % | RB—2F—1) 1
5-6 | 1271-41150 | % |45 T v v — 1
5-7 | 1271-41160 | % M5 X 14X2Y) 1 7' Ibyb 1
5-8 | 1271-41220 | % | RZ—B /UKL 1
5-9 | 1271-41210 | % | RA—A 00— 3mm x 900mm 1
5-10| 1271-42100 | |RA—AT—1T7vy> 1




